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CASUAL SPEECH
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PRINCIPLES OF CASUAL SPEECH

» Casual speech utilizes the plain forms of verbs.

EG.ERRICITEET - FRICIT<S PEL. FRICTEFE LU - ERICITHTE

» The copula verb TT is usually omitted in questions.

» The question marker 5\ is either omitted or replaced by @ in questions,
with a rising intonation used instead.

E6. PA RV —LRPFETID > ARV ) —ALSIFE?

6. SH. Mz LFEFIh - SH. @ET35D?

» Verb phrases are often followed by the particles & or 43 in statements.

E6. SHIEZT A FHHBY FT—->SHIETR FH3 B K BEITEERNNET

ARG 8 \oay Al 13 is used to confirm




P1

PRINCIPLES OF CASUAL SPEECH

The topic marker (& and the direct object marker Z are frequently omitted.

EG. ZDARBPFIDTT L— ZDOAR, FADTEX

E6. ZDIES LELTESTL\V- ZDIES L, B&S7ELN

The particle [C can be omitted when it is easily inferred from
the sentences, such as in the ~([C1T < /33 /I8 B/ N\ B form.

E6. FARXEDIRICIHEW XU FAEIRIFoTCX

EG. MY & DICEKFX TR EEHIY &£ 5KBR

Other particles such as Dv5, & T, T, and (& (contrast) are not omitted



PRINCIPLES OF CASUAL SPEECH

» [Invitation]
~FXUL&D 2 ~(&K)D (=volitional form)
~LZEXBAD =2~ UL7ELU) (with a rising intonation)

E6.BRFEULLD 2 BRED RECTZAULEFBAD— TZAUZRLN?

» [Explanation] ~ATY = ~ATE/ ~D
E6.ET7 /DBHBATIT>ET /DBHBIAE/ HBD

» [Making arequest] ~TLTESTLY > ~T

E6. PADNK ZRHILWTLKTETLV - BADKZEELT
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Change the Underlined Parts to Casual Form

A:SH. BAREBEOV SATEAZMELEILED, @, #ELEE?

B: ZEFZfsELE L., E=XR. fsa L=
A: FSTITH, BFREDITHULLTITD, T, EF. TIHLLV?

B: (LY, B&2EBITHUWLWTT, TE, EUUWLTT &L,
Sk $TH LY TE. E2LLK

A [FAETTITh, (FAE?
B: LW\WZ, FERHERD - T=HE . I(FATL»HVFEA.

DDl (FAE U w750
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Sample Answer

AL S5FED

AT EBTAIIFTBERDS EZFFEUTLET,

* Because there is no absolute answer for casual speech, the sample answer is only for your reference
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NTaF7NT7 r—LATREZLTLLETWV



